## Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 3 - Forfar and District

5,421

4

1,085

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Colin BROWN	Independent	698
Linda CLARK	Scottish National Party (SNP)	1,270
Lynne DEVINE	Scottish National Party (SNP)	810
Ross GREIG	Scottish Conservative and Unionist	1,158
Marley HUNTER	Scottish Green Party	228
Ed MCADAM	Scottish Labour Party	298
lan MCLAREN	Independent	869
Samuel David STRUTH	Scottish Liberal Democrats	90
	Total	5,421

Candidate Linda CLARK Elected with 1,270 votes, being in excess of the quota of 1,085 Candidate Ross GREIG Elected with 1,158 votes, being in excess of the quota of 1,085

# Transfers Report

This report contains the transfers results.

## Stage 2 - Surplus of Linda CLARK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin BROWN	25	0.14566	3.64150
Transfer to Lynne DEVINE	1,122	0.14566	163.43052
Transfer to Marley HUNTER	49	0.14566	7.13734
Transfer to Ed MCADAM	13	0.14566	1.89358
Transfer to Ian MCLAREN	22	0.14566	3.20452
No further preference	33	0.14566	4.80678
Not transferred due to rounding			0.01180
	Total		185.00000

# Transfers Report

This report contains the transfers results.

## Stage 3 - Surplus of Ross GREIG

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin BROWN	220	0.06303	13.86660
Transfer to Lynne DEVINE	18	0.06303	1.13454
Transfer to Marley HUNTER	30	0.06303	1.89090
Transfer to Ed MCADAM	152	0.06303	9.58056
Transfer to Ian MCLAREN	331	0.06303	20.86293
Transfer to Samuel David STRUTH	134	0.06303	8.44602
No further preference	273	0.06303	17.20719
Not transferred due to rounding			0.01126
	Total		73.00000

# Transfers Report

This report contains the transfers results.

## Stage 4 - Exclusion of Samuel David STRUTH

99.31998

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin BROWN	11	1.00000	11.00000
Transfer to Lynne DEVINE	9	1.00000	9.00000
Transfer to Marley HUNTER	11	1.00000	11.00000
Transfer to Ed MCADAM	21	1.00000	21.00000
Transfer to Ian MCLAREN	29	1.00000	29.00000
Transfer to Lynne DEVINE	1	0.14566	0.14566
Transfer to Ed MCADAM	3	0.14566	0.43698
Transfer to Colin BROWN	15	0.06303	0.94545
Transfer to Lynne DEVINE	1	0.06303	0.06303
Transfer to Marley HUNTER	8	0.06303	0.50424
Transfer to Ed MCADAM	42	0.06303	2.64726
Transfer to Ian MCLAREN	39	0.06303	2.45817
No further preference	9	1.00000	9.00000
No further preference	2	0.14566	0.29132
No further preference	29	0.06303	1.82787
Not transferred due to rounding			0.00000
	Total		99.31998

## Transfers Report

This report contains the transfers results.

## Stage 5 - Exclusion of Marley HUNTER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin BROWN	26	1.00000	26.00000
Transfer to Lynne DEVINE	109	1.00000	109.00000
Transfer to Ed MCADAM	32	1.00000	32.00000
Transfer to Ian MCLAREN	33	1.00000	33.00000
Transfer to Lynne DEVINE	33	0.14566	4.80678
Transfer to Ed MCADAM	3	0.14566	0.43698
Transfer to Ian MCLAREN	4	0.14566	0.58264
Transfer to Colin BROWN	4	0.06303	0.25212
Transfer to Lynne DEVINE	3	0.06303	0.18909
Transfer to Ed MCADAM	7	0.06303	0.44121
Transfer to Ian MCLAREN	8	0.06303	0.50424
No further preference	39	1.00000	39.00000
No further preference	9	0.14566	1.31094
No further preference	16	0.06303	1.00848
Not transferred due to rounding			0.00000
	Total		248.53248

## Transfers Report

This report contains the transfers results.

## Stage 6 - Surplus of Lynne DEVINE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin BROWN	171	0.01163	1.98873
Transfer to Ed MCADAM	128	0.01163	1.48864
Transfer to Ian MCLAREN	195	0.01163	2.26785
Transfer to Colin BROWN	189	0.00169	0.31941
Transfer to Ed MCADAM	153	0.00169	0.25857
Transfer to Ian MCLAREN	185	0.00169	0.31265
Transfer to Colin BROWN	4	0.00073	0.00292
Transfer to Ed MCADAM	2	0.00073	0.00146
Transfer to Ian MCLAREN	5	0.00073	0.00365
No further preference	434	0.01163	5.04742
No further preference	629	0.00169	1.06301
No further preference	11	0.00073	0.00803
Not transferred due to rounding			0.00728
	Total		12.76962

## Transfers Report

This report contains the transfers results.

## Stage 7 - Exclusion of Ed MCADAM

368.18524

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin BROWN	74	1.00000	74.00000
Transfer to Ian MCLAREN	116	1.00000	116.00000
Transfer to Colin BROWN	3	0.14566	0.43698
Transfer to Ian MCLAREN	2	0.14566	0.29132
Transfer to Colin BROWN	40	0.06303	2.52120
Transfer to Ian MCLAREN	66	0.06303	4.15998
Transfer to Colin BROWN	26	0.01163	0.30238
Transfer to Ian MCLAREN	41	0.01163	0.47683
Transfer to Colin BROWN	30	0.00169	0.05070
Transfer to Ian MCLAREN	49	0.00169	0.08281
Transfer to Ian MCLAREN	1	0.00073	0.00073
No further preference	161	1.00000	161.00000
No further preference	14	0.14566	2.03924
No further preference	95	0.06303	5.98785
No further preference	61	0.01163	0.70943
No further preference	74	0.00169	0.12506
No further preference	1	0.00073	0.00073
Not transferred due to rounding			0.00000
	T-4-1		000 40504

Total 368.18524

# Transfers Report

This report contains the transfers results.

## Stage 8 - Exclusion of Colin BROWN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ian MCLAREN	610	1.00000	610.00000
Transfer to Ian MCLAREN	15	0.14566	2.18490
Transfer to Ian MCLAREN	199	0.06303	12.54297
Transfer to Ian MCLAREN	122	0.01163	1.41886
Transfer to Ian MCLAREN	126	0.00169	0.21294
Transfer to Ian MCLAREN	4	0.00073	0.00292
No further preference	199	1.00000	199.00000
No further preference	13	0.14566	1.89358
No further preference	80	0.06303	5.04240
No further preference	75	0.01163	0.87225
No further preference	93	0.00169	0.15717
Not transferred due to rounding			0.00000
	Total		833.32799